





























The role of interface in breakdown :	6
Aging test	
Aging was carried out for 3 days at 120 °C]
Equivalent for three years in service	
	16

















✓ have high thermal stability.



















































DC-BDS in case of sphere-sphere field for LDPE :				
	Loading fraction (wt.%)	Average values of measured BDV (kV)	Samples thickness (mm)	DC-BDS at Tip of sphere (kV/mm)
LDPE/SiO2	V 0	41.57	0.35	118.77
Un-functionalized	0.25	62.31	0.63	98.9
	0.5	32.11	0.31	103.58
	1	34.97	0.28	124.89
	3	30.72	0.25	122.88
	5	44.31	0.45	98.47
	Loading fraction (wt.%)	Average values of measured BDV (kV)	Samples thickness (mm)	DC-BDS at Tip of sphere (kV/mm)
LDPE/SIO2 VINVI-	<u> </u>	41.57	0.35	118.77
TUNCTIONAIIZED	0.25	33.15	0.31	106.93
Turiodonalized	0.5	45.96	0.45	102.14
	1	39.63	0.3	132.1
	-	27.00	0.25	148.88
	3	31.22		







Results & Discussion					
> Partial discharge activities for LDPE :					
Name of sample	U _i (kV)	Q _{IEC} (pC)	U _e (kV)	Max. pulses in positive cycle (pps*)	Max. pulses in negative cycle (pps-)
Neat LDPE	2	827	1.4	235	275
LDPE+3% Un-functionalized SiO ₂	2.55	731	1.6	145	164
LDPE+3% SiO ₂ with vinyl silane	2.65	589	1.9	150	172
The optimal PD parameters achieved in sample LDPE/3wt% vinyl-function SiO ₂ that the U_i , and U_e enhanced with 32.5 % and 35.7 % respect however the Q_{IEC} is reduced with 40.4 % compared with neat LDPE values				/l-functionalized % respectively DPE values.	



Mechanical results for LDPE :					
Name of sample	Young's Modulus (MPa)	Elongation (%)	Tensile Strength (MPa)		
Neat LDPE	188	1310	6.15		
LDPE/3% un-functionalized SiO ₂	238	892	7.62		
LDPE/3% vinyl-functionalized SiO ₂	313	930	8.32		

The modulus of elasticity and tensile strength of the LDPE/3% vinylfunctionalized SiO₂ are enhanced by about 66.5 % and 35.5 % over that of the neat LDPE, respectively. However, the elongation is decreased by 29 %.



Conclusions
 the samples prepared by solution method have enhancements in all properties much better than the other samples that were prepared by melt blending method.
2) Functionalization process provides a strong interaction between polymer and nanoparticles represented in (hydrogen bonds or van der Waals forces or chemical covalent or ionic bonding) that results in lessen the surface energy of nanoparticles to be compatible with polymeric materials (non-polar, good dispersion).
3) The most suitable coupling agents in the enhancement of dielectric and mechanical properties is the vinyl silane over the amino silane, specially in high weight fraction of nanoparticles within the PVC or LDPE matrix. This is because the chain length of amino silane is much longer than that of vinyl silane. Also, due to the incompatibility between the surface tension of polymeric materials and amino silane that weakness the interfacial area between them.



 List of Publications Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed and M. M. F. Darwish, "Effect of functionalized TiO₂ nanoparticles on dielectric properties of PVC nanocomposites used in electrical insulating cables", IEEE 18th International Middle East Power Systems Conference (MEPCON'16), Helwan University, Cairo, Egypt, pp. 693–698, December 2016. 	
2) Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed, M. M. F. Darwish and M. Lehtonen, "Experimental measurements of partial discharge activity within LDPE/TIO2 nanocomposites", IEEE 19th International Middle East Power Systems Conference (MEPCON'17), Menoufia University, Cairo, Egypt, pp. 811–816, December 2017.	
3) Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed and M. M. F. Darwish, "Influence of coupling agent on dielectric and mechanical properties of PVC/TiO ₂ nanocomposites", 4th International Conference on Energy Engineering (ICEE-4), Aswan, Egypt, December 2017.	

 Alagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed, M. M. F. Darwish and M. Lehtonen, "Multiple enhancement of PVC cable insulation using functionalized SiO₂ nanoparticles based nanocomposites", Electric Power Systems Research (EPSR), Elsevier, Vol. 163, pp. 612-625, 2018.
 Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed, M. M. F. Darwish and M. Lehtonen, "Enhancement of dielectric and mechanical properties of polyvinyl chloride nanocomposites using functionalized TiO₂ nanoparticles", IEEE Transactions on Dielectrics and Electrical Insulation (IEEE-TDEI), Vol. 24, No. 6, pp. 3490-3499, 2017.
 Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Hanaa M. Ahmed, M. M. F. Darwish and M. Lehtonen, "Development of industrial scale PVC nanocomposites with comprehensive enhancement in dielectric properties",

Accepted in IET Science, Measurement, and Technology (IET-SMT).

List of Publications	>>
7) Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Diaa-Eldin A. Mansour, Ahmed, M. M. F. Darwish and M. Lehtonen, "Impact of n functionalization on partial discharge activity within PVC/SiO ₂ nanoco 2nd IEEE International Conference on Dielectrics (ICD2018), Hungary, July 2018.	, Hanaa M. hanoparticle omposites", Budapest,
8) Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Elsayed Y. Elkady, Di Mansour, Hanaa M. Ahmed and M. M. F. Darwish, "Dielectric Respor and LDPE Nanocomposites upon Functionalization of their Nanoparticles", IEEE 20th International Middle East Power Systems ((<u>MEPCON'18)</u> , Cairo University, Cairo, Egypt, December 2018.	aa-Eldin A. nse of PVC Containing Conference
9) Diaa-Eldin A. Mansour, Nagat M. K. Abdel-Gawad, Adel Z. El Dein, Ahmed and M. M. F. Darwish, "Recent advances in polymer nano based on polyethylene and polyvinylchloride", Under publication in Journal (<u>Elsevier).</u>	, Hanaa M. composites n Polymers 63





